log (*) LABJNDuO standard lightnessI*

* Yoc=Yw  nc=100,

1*1 AgaNDu0 =[IN[A 1n+A2nV)I/(A 20A )] (Yn/100<Y<=Y,c)
I* \(3,6)=146/* ,(18)=332,*  (90)=517

* =49, 1% =

I*o=517,21, A1,
I*1g=332,22
I3 =146,11 1%,

aYn=36 ¥ Yy=90

LABJINDuUO
tristimulus value difference

Yac=Yw - nc=100,

%1 ABaNDu0=[IN[A 10+ A2 YV)I(A 20A )] (Yn/100<Y<=Yyo)
dY=Agn(A1+AzY)  Aq=0,017, A,=0,0058
Aonpes=L,5, Aon a=1,0, see CIE 230:2019
0Y3g20.80, Aoy=1,500, ¢=1,00
dY,9=0,18, An=0,017, Agn 0,0058
dY3 0,05 Y,=18 dY=0
* =332, dY,=0,18 dYu/Yu o 0101
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YN=3.6  Yy=90

log (AY/Y) LABJNDUO 0
S=(AY/Y) gaig?vslus :ilzufog,ensmvny
L ABaNDu0 =[IN[(A 117+ A2nV)J/(A20Aon)] (Yao/L00Y<=Y;)
dY/Y=Aga[A1,+A2Y]IY

(dY/Y)470,0089, Ay Ls

(dY/Y)g=0.9101, A =0 ,Ag
(dY/Y} 60,0257 Y, 13 dY=0,18

log(dY/Y)-1,99 n'\,——O Iu\ <

12332, d¥,20,18 dY/Y,=0, 01011
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1Y,=18

Yw=90
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LABJINDuO
tristimulus value contrast
Yoc=Yw =

e=100,
%1 ABaNDu0=[IN[A 10+ A2 Y)I/(A 20A )] (Yn/100<Y<=Y,c)
YIAY=Y/[Agn(A1ntA2RY)]

(Y/dYy=111,31, Ay=1,500, G=
(Y/dY)g=98,84, A=0,017, ,=0,0058
(YIdY} =63 35 Y,118, d\=0.18

log (Y/AY)
C,=(Y/AY)

application
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e o e
YN=3.6 1 Yw=20

log (*/1* ;)

LABJINDuUO relative standard lightnessI*/I* ,
o he=Yw -~ nc=100,
u

1* 1 ABINDUO=[IN[(A 17+A2nY)J(A 2nA0n)] (Yd/100<Y<=Y,c)
1* y(3,6)=146 % ,(18)=332 1* ,(90)=517

I*og/l* =155, A=1,500, ¢=1,00

I* 1g/1* =1.00, Ay=0.017, A,=0,0058

I* 5 I*=0,43,1¥,7332,23 Y718

log[i* /I* ]=0, m,=0,33

L* =49, I* =332
application
range

Y,=18
Yy=90

'[™v\=36

LABJNDUO relative
tristimulus value difference

Yne=Yw nc=100,
%L agaNDuo =[IN[A 17+A2nV)V(A 20A0R)] (Ynd/100<Y<=Y,()
AYIY,=AgifA 1 +AgYIdY,

dYeg/dY,=4,43, Ay=1,500, ¢=1,0
dY,g/dY,= A10017A2:,0
dY ¢dY,=0,31 Y,=18, dY=0,18

log(A Y/AY W)
AYIAY,

o
I*,=332 dY,=0,18 dY,/Y,=0, 0101

log [(AY/Y) I (AYIY)] LABJINDUO relative
tistimulus value sensitivity

SSu=OYMIBYNy . =y, =100,
1* L ABINDUO=[IN[(A 10+ A2RY)I(A 20A0n)] (Yd/100<Y<=Yc)
@YIYYAYIY,=(AgiAg Y)Y AYIYY]

(dY/Ypo/(GV/Y)=0,88, Ay=1,500, ¢=1,00
(dY/Y)g/(dYr1=1,00, A =0,017, A, =0,0058
(dY/Y) d(dY/Y,=1,56 Y,~18 dY=0,18

log[(dY/YY(dY/Y)J=0, m=-0,13 1

I*,=332, dY,=0,18 dY,/Y,=0,0101 |

1y,=18
=Clp log

application
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Y236
log [(Y/AY) I (YIAY),] LABJINDUO relative
- tistimulus value contrast
Gl =(YIAV)(YIAY), o 2 S Y2 L 50,
1* L ABINDUO=[IN[(A 10tA2nY)J(A 20A0n)] (Ynd/100<Y<=Yc)
(YIAYYCYIAY ), =(YI(YIAY ) )A on(Arn+As (YY),
(Y/AY)g/(Y/dY)=1,12, Ay=1,500, ¢=1,00
(YIdY)g/(Y/dY)=1,00. A =0,017. A,=0,0058
(Y/dY} ¢/(Y/dY)=0,64 Y,=18 dY=0,18
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'y,=18
Yw=20




